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MATHEMATICS 5 SN

EXPONENTIAL EQUATIONS - CHANGE OF BASE (NO LOGARITHMS)

Name___________________________________
©n F2o0A1S6K RKAuCtWaX HSEozfmtGw[aUrBeQ yLlLuCM.I q gAdlIla WrXiBgqhJt[sL ]rdeHsre\ruvHeEd\.

Solve each equation.

1)  23n - 2
 = 64

2)  ( 1

16)-3x + 1

 = 64
3x - 3

3)  16
2x + 1

 = (1

4)-3x 4)  3-x
 = 3

-x

5)  (1

4)-p - 3

 = 16
p - 2 6)  (1

5)-3n

 = 625

7)  4-x + 1
 = 4

3x - 2

8)  ( 1

216)-2v - 3

 = 36
3v

9)  23x
 = 2

2 - x 10)  6k + 1
 = 216

11)  8-2b
 = 1 12)  5-3p

 = 125

13)  64
b - 3

 = (1

4)-3b 14)  125
-3x + 1

 × 25
3x + 1

 = 25
-x

15)  25
-3n - 3

 = 
1

625

16)  83x + 1
 = 4

2x

17)  25
x
 × (1

5)-x - 1

 = (1

5)-x 18)  23k
 = 2

5

19)  
625

3x

25
 = 25

20)  2-3x
 = 2

-x

21)  
16

-x

64
-3x

 = 16
-3x - 3 22)  

9
3a + 3

1

27

 = 9

23)  16 × 64
3 - 2r

 = (1

4)3r

24)  53
 × ( 1

25)2x

 = 25
x - 3

25)  216
-3n - 3

 × 36
-2n

 = 
1

216

26)  9b × 81
-2b

 = 1

27)  
1

27
 × 9

2 - 3n
 = 9 28)  216 × 36

2n
 = ( 1

216)-n

29)  91 - 3k
 × 243

2k
 = 27

3k

30)  
1

125
 × ( 1

25)-n

 = 25
-3n
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Answers to EXPONENTIAL EQUATIONS - CHANGE OF BASE (NO LOGARITHMS)

1)  {8

3} 2)  {7

3} 3)  {-2} 4)  { All real numbers. }

5)  {7}
6)  {4

3} 7)  {3

4} 8)  No solution.

9)  {1

2} 10)  {2} 11)  {0} 12)  {-1}

13)  No solution. 14)  {5}
15)  {- 1

3} 16)  {- 3

5}
17)  {- 1

2} 18)  {5

3} 19)  {1

3} 20)  {0}

21)  {- 6

13} 22)  {- 7

6} 23)  {11

3 } 24)  {3

2}
25)  {- 6

13} 26)  {0}
27)  {- 1

6} 28)  {-3}

29)  {2

5} 30)  {3

8}


